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71~ NTCB Inc. has the following capital structure, which it considers to be optimal:

Current Liabilities $25,000,000
Long-term liabilities 164,000,000
“Equity 126,000,000
In addition, NTCB Inc. has compiled the following financial data:
EBIT =$105,000,000  Dividend payout ratio =50%
Profit margin . =8% Cost of debt before tax =8%
Total asset turnover =2 . Corporate tax rate ~ =40%

(—) Assume the NTCB Inc. has a constant dividend payout ratio and a constant
debt-to-equity ratio. The firm is currently operating at full capacity. What is
the maximum growth rate the firm can achieve without any external equity
financing? (5%) '

(=) Assume the NTCB Inc. has a constant dividend payout ratio and a constant
profit margin. The firm is currently operating at full capacity. What is the
maximum growth rate the firm can achieve without any external equity
financing? (5%)

(=) Assume the NTCB Inc. has a constant dividend payout ratio and a projected )
‘sales increase of 10%. All costs, assets, and current liabilities vary directly
with sales. The firm is operating at full capacity. What is the external
financing needed? (5%)

(™) If the weighted average cost of capital (WACC) is 10%, what is its cost of
equity? What is its unlevered cost of equity capital? (5%)
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7% ~ You are approached to bid on a contract to sell 10,000,000 DVD-R to Microsoft
per year for the next five years. The equipment necessary for the production will

cost $3,846,000,000 and will be depreciated on a straight-line basis to a zero

salvage value over the project’s five-years. Production will need $500,000 in initial

net working capital, which will be returned at the end of the project. The

equipment can be sold for $800,000 at the end of the production. The production

costs are 35 per unit, and the fixed cost is $300,000 per year. It the tax rate is 40%

and the required return on this project is 12%, what bid price should you submit on
the contract? [P\IIFA12%,5=3.60478; PVIF]zn-3,5=0.56743] (]0%)

4= » NTCB Inc. predicts that earnings in the coming year will be $75 million. There are

12 million shares outstanding. NTCB has a debt-to-equity ratio of 1.5 and its

WACC is 10%.

(—) Calculate the maximum investment funds available without issuing new

equity and the increase in borrowing that goes along with it. (5%)

(=) NTCB Inc. has evaluated six potential investment projects for the coming
year. All projects are independent and are of average risks.

Investment | Cost Life IRR
A 15 million |5 11.5%
B 22 million |5 9.5%
C 20 million |5 12%
D 27 million |5 13%
E 40 million |5 7%

F 10 mitlion |5 11.2%

Suppose the company follows a residual dividend policy. Based on this
information, what will the dividend per share be? How much in new debt was

borrowed? (5%)
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J\ ~ Suppose the annualized interest rates in the U.S. and the Eurozone are 1.2% and
0.6%, respectively. The current spot and 1-year forward exchange rates on the euro

are US$1.3317 and US$1.3420, respectively.

(—) Is there an arbitrage opportunity? If so, how would you exploit it? (5%)

( ) At what 1-year forward rate will interest rate parity hold? (5%)
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